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GradePoint

getPoint(score:int):int
getGrade(point:int):String
isSuccess(score:int):boolean
getMessage(success:boolean) :String
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public class A7_13{
public static void main(String[] args){
int score = 95;

int point = GradePoint.getPoint(score);

String grade = GradePoint.getGrade(point);
boolean success = GradePoint.isSuccess(score);
String message = GradePoint.getMessage(success);

System.out.printIn(’X3a7:” + score);
System.out.printIn(’7/R4 > k:” + point);
System.out.printIn(’Y L—FK:” + grade);
System.out.printIn(message);
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public class GradePoint{

public static int getPoint(int score){
return O;

by

public static String getGrade(int point){
return 777;

+

public static boolean isSuccess(int score){
return false;

s

public static String getMessage(boolean success){
return 77;

s
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public class GradePoint{

public static
int point
if( score
point
} else if
point
} else if
point
} else if
point
} else if
point

by

int getPoint(int score){
0;
90 ){
4;
(score >= 80) && (score < 90) ){
3;
(score >= 70) && (score < 80) ){
2;
(score >= 60) && (score < 70) ){
1;
score < 60 ){
0;
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return point;

}

public static

String grade =

if( point
grade
} else if
grade
} else if
grade
} else if
grade
} else if
grade
by

String getGrade(int point){

return grade;

}

public static

boolean success =

if(score >= 60){

Success =

}

== 4 )
- ’757’ -

( point == 3 ){

- ’7A7’;

( point == 2 ){

- ’7B7’;

( point == 1 ){

- ’7C7’;

( point == 0 ){

- ’7D7’;

boolean i1sSuccess(int score){

false;
true;

return success;

by

public static String getMessage(boolean success){
String message = 77;
iT( success ){

message = "&K”;
} else {
message = "AEE;

}

return message;




